Al

20248 =0ila eI SAIE 20t

Ol &F A

Al A

A SXNEH
3 NG A=K % S SHAFS| S XI/ A2l SR E
Selr XA SXLR 245t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 7,740,945 7,163,846 577,099
= 1,624,400
N 1,581,002
Al 796,174
- 3,739,369
KNSARI =X 2o ARISXI/ALRIS X2 2,966,144 2,883,983 82,161
N 1,386,628
Al 297,135
- 1,282,381
[SASISXER 2435t 893,246 1,146,950 A253,704
RISAEe SEdat 216,200 162,200 54,000
201 et 3| 21,800 15,800 6,000
01 AtR2tc|bI 8,600 8,600 0
OSXIAHIA QHH==F HI=
10,0002 *800 8,000
O=Xe g 34 22 NX
100,000 6% 600
03 A= I 13,200 7,200 6,000
O=Xetgsl 7,200,000& 7,200
OAtel=RIel 028 stite
6,000,000 6,000
202 04l 2,400 2,400
01 SLHoIH 2,400 2,400
OYESHH HS A 2UHSEOYI
20,0002 x102/* 123 2,400
203 HR=4AY] 10,500 11,000 A500
03 A= PR F&| 10,500 11,000 A500
O=IDIeRs 245t =&
2,000,000& 2,000
O=NUE= FQAMAE F=a
8,500,000& 8,500
301 EtE N = 167,300 128,800 38,500
02 MR 2HASFHS(HAAS, XLHE) 164,900 126,000 38,900
OARRISAIAIE SAHAF XMIH&H|
30,0002 x420H 123 151,200
OAISXIAIE SAERL &J125+E
13,700,000& 13,700
11 dALAEIXIRE S 2,400 2,800 A400
O=Xu23l 24l
3,0003 %300 »2 1,800
OAt2IS el =8 etite 2tail|
3,000& *200 600
303 Zal= 2,200 2,200
01 &= 2,200 2,200




2A:

SINESES I}

M XHAt2 =X SXI/AESRILet)
&2l XGALRI=S XS
SA - B ORI(B1) - HIRAY - BES A
O=sXe
50,0002 *4Z 200
Os Mal= 2,000
- xR 500,000 1= 500
- R 300,000 x2H= 600
- &d 200,000 *3 = 600
- RS 50,0002 +6Z 300
307 212+01™ 12,000 2,000 10,000
02 QIZHA A AL E X 12,000 2,000 10,000
O+ ASISXIAL HSF2otALS
2,000,000& 2,000
OE7 A=A SXEE=S A
10,000,000 10,000
XNSAE 2SN 29 15,500 15,500
201 L2 | 6,000 6,000
01 At=R2teld| 6,000 6,000
OXGAMZ SHE AN AMR= 29
6,000,000& 6,000
307 2I2+0l ™ 9,500 9,500
10 AIEISXAIEHE2ZHIEX 9,500 9,500
OBOIM ARR HEOI(2A) o12H]
9,500,000& 9,500
KSABI S HE & 2,000 2,000
201 LBt 2,000 2,000
01 AfR2e 2,000 2,000
OXNSAEIEE HAXIE ASHHEAM M
20,0003 1005 2,000
SR3sH 22 10,848
201 B2 A 10,848
01 At=R2teld 3,048
O2d=3 100,000& *12& 1,200
Ofo1ZH| 154,000& * 12& 1,848
02 33244 7,800 0
Oa=ER3 300,000 *63] 1,800
oFIIE 500,000& =123 6,000
MIEXSRET AIBISRRA 2(Me-=XH ) 648,482 533,268 115,214
301 LB F 648,482 533,268 115,214
10 MBI SRRJIEAZ 648,482 533,268 115,214
O=s 930,000 x5« 123 502,200
Oul=t| 310,000&+35H 10,850
On &l 3,400 #45F x222 x 12 40,392
OAlt| 8,000 #4652 +222 » 12& 95,040
Mot =2 72S 216 540 AN324




2A:

SINESES I}

M XM S SESHALRIS R/ ARSI E)
Selr XA SXLR 245t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 216 540 N324
2 52484l 216 540 N324
ONjeli+= &= SRS
18,0003~ 104123 216
SA2 28 At 92,000 80,000 12,000
sX2 28 N2 92,000 80,000 12,000
307 @I2t0| & 92,000 80,000 12,000
05 glt?(& = 92,000 80,000 12,000
OXE=X2 23| 92,000,000 92,000
ARIAHIA JIS 1,980,898 1,657,033 323,865
X 1,386,628
Al 297,135
- 297,135
Il;ﬂﬂ%@ ABIAHIA SXAIG (RISOHES BER A Ab 1,665,259 1,653,033 12,226
&
N 1,165,681
Al 249,789
- 249,789
308 AtXIEMSOIE 1,665,259 1,653,033 12,226
Xl 1,165,681
Al 249,789
- 249,789
18 SIS0t HAS A 1,665,259 1,653,033 12,226
OXSAXIEE ABIMHIA EXAIG (RN
&) 1,665,259,000& 1,665,259
Xl 1,165,681
Al 249,789
- 249,789
NANES A2IMBIA SXAFE (XIS ARSI AHIA) 4,000 4,000 0
Xl 2,800
Al 600
- 600
201 Ler=23 | 4,000 4,000 0
N 2,800
Al 600
T 600
01 At2teltl 4,000 4,000 0
OXIATESE ABIAHIA EXFAI (XIS ALS
MHIA) 4,000,000& 4,000
N 2,800
Al 600
- 600
FE0ISHZANZ A 40,211 0 40,211
N 28,147




SN =NE
M XAMIIER SHSHASIEX /A S XL B
chol: ARBIAIHIA HIZ chol: 22l)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,032
T 6,032
308 XXM SOIA 40,211 0 40,211
N 28,147
Al 6.032
- 6,032
18 SIS0t 40,211 0 40,211
OFHNISAL XA 40,211,000 40,211
Xl 28,147
Al 6,032
- 6,032
LSS MEIAA 271,428 0 271,428
X 190,000
Al 40,714
- 40,714
201 fer=3| 3,000 0 3,000
N 2,100
Al 450
- 450
01 AtR2t2|HI 3,000 0 3,000
O =SAMEIAAE
3,000 *1,000H 3,000
Xl 2,100
Al 450
- 450
308 AtAIEHMSOIE 268,428 0 268,428
Xl 187,900
Al 40,264
- 40,264
1B BI2SoteE A 268,428 0 268,428
O =SAMHIAAIY 268,428,000 268,428
N 187,900
Al 40,264
- 40,264
SE2A(MIEN/EE) 1,824,660 1,851,790 A27,130
S=HHAA 1,824,660 1,851,790 A27,130
2EHH S2AAE K& 124,360 123,660 700
201 2= 558 0 558
03 A2 I 558 0 558
OZ2&HH 82lal M=l (ZHH) A
558,000& 558
301 EtE N = 3,942 5,000 1,058
11 #AIMHIXIE S 3,942 5,000 1,058




SN =X
M B (MISK/EE)
tel: B2 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OEEHHl 8ol M XI=el(ZtH) A
3,942,000& 3,942
307 QI2tol ™ 119,860 118,660 1,200
02 QItBAAIH E X 56,000 58,100 A2,100
OE2HH S2UAY X& 56,000
- Z=314372X3 4,150,000& 4,150
- H0IZHBIL RS 6,800, 0002 6,800
- ¥BRARSILTAE
5,900,000& 5,900
- H2RF0IYIB LS
6. 100, 0002 6. 100
- 2BAENEYTX 5,300,002 5,300
- DEHERE LTS 6,600,0002 6,600
- S4YLRTAEL TN
2,200,000& 2,200
- 6.25&8 8RBt X3
3,750,000& 3,750
- FLFBENE LTI
8,600,000& 8,600
- @G Ezolsl 6,600,000& 6,600
03 QI HER2HHIE X 63,860 60,560 3,300
O2zHH 22d| X& 63,860
- Z=34372X3 8,260,000& 8,260
- M0IZ2Zslg RS 6,800,000& 6,800
- dSZEREIEFAE
6,700,000& 6,700
- dNEZZ01Lel 2 XIE
6,500,000& 6,500
- ESENIYRXE 7,400,000& 7,400
- DEHER3 X3 6,000,000& 6,000
- S2YLLTBXE LIS
3,200,000& 3,200
- .28 8RB+ X3
9,000,000& 9,000
- FYNEANSERRIE
4,000,000 4,000
- YA EZ G 6,000,000& 6,000
ZR3N & EEHH 2 67,500 64,400 3,100
201 Ler2 | 2,600 2,600 0
01 At 22|l 2,600 2,600 0
o2y B=tHd &M M=
60,0002 10X 600
Oz 2d 22 2,000,000& 2,000
203 PYR=&IH| 1,000 1,000
03 AR FRIHRFAIY| 1,000 1,000




SN =X
¥ 2E2Ael(MB=N/E8)
tel: B2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE2HH =29 43t 1,000,000 1,000
301 EtE N = 63,900 60,800 3,100
02 A2 A LGS (FHAAHS, NSWE) 54,900 52,800 2,100
ONAS IIVIRSA € 25 Ad N2 40,500
-4 27,000 »500H 13,500
- =4 27,0003 »500H 13,500
-S3289 ¥ 27,0002 »500H 13,500
OFHFSA AgRIZE
200,0003 6 *12& 14,400
14 0Bt 2a3 9,000 8,000 1,000
SHR3A Zd S
100,000 *45E 23] 9,000
SEAE 2| 18,600 21,100 22,500
201 Eer23 | 18,600 18,600 0
2 352484l 18,600 18,600 0
OE=3& 8&8k= 1,300,000& «12& 15,600
OFs3& FA2+2cl|
3,000,000 3,000
FERSA JIz=s5A Sil=& 19,200 19,200
301 LEtE NS 19,200 19,200
02 ARSI 2E AT S(FIANS, XLETHE) 19,200 19,200
OHHRTN YULY(LDIZMBRT 4
SAH 20,0002 x80E «12& 19,200
SEH0=E(XHA) 1,595,000 1,593,000 2,000
201 er23 | 2,000 0 2,000
01 At2teltl 2,000 0 2,000
OE-2280+g NN E2=
2,000,000 2,000
301 EtE NS 1,593,000 1,593,000
02 AR EE A S(FIANE, XETHE) 1,593,000 1,593,000
Oogr=2=gd0=¢
30,0002 %4, 4258 1204 & 1,593,000
FHAHSKE (ARISX/FHAHNSXI) 2,385,132 2,189,385 195,747
= 1,624,400
N 124,918
Al 304,711
- 331,103
2=SXE 2,018,000 1,851,825 166,175
= 1,614,400
Al 201,800
- 201,800
2Z=A 2,018,000 1,851,825 166,175
= 1,614,400
Al 201,800




SH: =NE
BB SR (AEI=XI/HAHSTR)
©el: ASXE (S5 @ 8)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- 201,800
301 LPBNF 2,018,000 1,851,825 166,175
= 1,614,400
Al 201,800
- 201,800
01 A BE X2 (R REETHA) 2,018,000 1,851,825 166,175
225X KA 2,018,000,000& 2,018,000
= 1,614,400
Al 201,800
- 201,800
MII=XNSEAEIA AL 367,132 337,560 29,572
= 10,000
Xl 124,918
Al 102,911
- 129,303
ZCOPt 2 2w X 108,572 100,000 8,572
Al 68,000
- 40,572
307 QIZ2t01 A 108,572 100,000 8,572
Al 68,000
- 40,572
02 QIRHEAAIH B X 108,572 100,000 8,572
OFE0! X2 68,572,000& 68,572
Al 48,000
- 20,572
OFce3 XA 40,000,000 40,000
Al 20,000
- 20,000
SESEXNEGHMA A 33,320 33,320 0
201 B2 AL| 9,820 10,720 A900
01 AtR222lt| 1,920 1,920 0
OS At Z2lAL AlIZ2t2I2 2 S|
8,000 3 x4 +x5Alx 12 1,920
03 AL2ZH| 7,900 8,800 A900
OAtdl2tel 22&2 H3as 3,850,000& 3,850
OeIXMotMar 2tet 35 4,050,000& 4,050
202 04d| 9,600 9,600
01 =WOdbI 9,600 9,600
OSEAtZ2IAF EJ0{UI
20,0003 *4H 103+ 12& 9,600
301 LPBNZ 11,950 11,200 750
02 MBI EZASGS(HAUAS, XLTHA) 10,000 10,000 0




A SAEH
BB OIS NIR (A=K /FHHETR)
R AlRISXISE AL AN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAtlI 2l & At XI2H|
1,000,000 *10H 10,000
11 #AIAHIXIZ S 1,950 1,200 750
OARIZ2l 22 938
1,200,0002 %12 1,200
OoIMorde 25t IS 750,000 750
303 Za= 1,950 1,800 150
01 Za= 1,950 1,800 150
Os #0Pl= SXAHIA Al 1,800
- 2R 600,0003*1HS 600
- 2 400,000 *2H S 800
- ¥ 200,000 x2S 400
O R==Atell 243 150
- iR 50,0003 1 50
-5 30,0002 ~2&H 60
- &d 20,0002 23 40
MBI AHIA AHALS 5,300 5,300 0
201 2= 4,300 4,300 0
01 AtR2t2ltl 4,300 4,300
O=TAHBAY E2= S MA 3,000
- E2=3 2,000& 1,500H 3,000
OXIZAEI =X & 0IREI| R34 B
65,0002 x20H 1,300
203 =] 1,000 1,000
03 A=A 2= 1,000 1,000
O=XgH 243 =4 1,000,000 1,000
T SeAtdl2el XA 15,000 15,000
N 7,500
Al 3,750
- 3,750
201 et | 7,500 7,500
X 3,750
Al 1,875
- 1,875
01 At 2|l 7,500 7,500
O= SeAtdl2el XI& 7,500,000& 7,500
N 3,750
Al 1,875
- 1,875
301 Eet2 NS 7,500 7,500
N 3,750
Al 1,875
- 1,875




2A:

X XH -
o=

SINESES N}
FHAHSKIE (ARSI /FHAHEXR)

SRl MESXSBAHIA A (el mg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A EEATZ(2DEZME) 7,500 7,500 0
O~ SEAtell2tel et X3
7,500,000& 7,500
N 3,750
Al 1,875
- 1,875
0Pl 2ASAABIA 2 17,200 16,200 1,000
201 Ler=23 | 6.000 6.000 0
2 s5=34l 6,000 0 6,000
O3b AOIE 3y AlT1E 018=
500,000 * 12 6,000
301 LEtE NS 11,200 10,200 1,000
14 0Bt 2as 11,200 10,200 1,000
O35 AOIE 31 XZ0l At
50,0002+ 17+ 122 10,200
OS99} 22 DX T4
50,000 *20H 1,000
= WEE SEAMHIA X2 167,740 167,740 0
N 117,418
Al 25,161
- 25,161
201 Ler23| 85,000 85,000 0
N 59,500
Al 12,750
= 12,750
01 Al222lH] 85,000 85,000 0
O 258 SEHAHIA X
85,000,000& 85,000
N 59,500
Al 12,750
- 12,750
301 LEtE NS 82,740 82,740 0
N 57,918
Al 12,411
- 12,411
01 AR 2EHSHS(RDNEXRTHE) 82,740 82,740 0
O=s X&EE SEAHA K&
82,740,000 82,740
N 57,918
Al 12,411
- 12,411
DEA Ol2AIY X 20,000 0 20,000
= 10,000
Al 6,000




A SXNEH
M FHANSK (MEISX/HLHEXR)

SRl MESXSBAHIA A (el mg)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 4,000
201 B2 AY| 2,000 2,000
= 1,000
Al 600
- 400
01 AtR2telt] 2,000 2,000
OL=SAH HIZXMAH A=A S8 & 2HE3)
2,000,000& 2,000
= 1,000
Al 600
- 400
301 LPENZ 18,000 18,000
= 9,000
Al 5,400
- 3,600
01 A BE X2 (2 RNEETHA) 18,000 18,000
OL=At WA 25 18,000,000& 18,000
= 9,000
Al 5,400
- 3,600
KGAIE SEEE(ASISX/FAHSKH) 319,200 319,200
Al 159,600
- 159,600
HSLIEAN -3t 319,200 319,200
Al 159,600
- 159,600
2AE SEEs ZEAY 319,200 319,200
Al 159,600
- 159,600
201 LB-2AY| 8,920 8,920
Al 4,460
- 4,460
01 At=R2teld| 8,920 8,920
OSeg=3 ME23Y| 8,920,000& 8,920
Al 4,460
- 4,460
301 LetENZ 125,5% 125,5%
Al 62,798
- 62,798
P2 A BEHHZ(HAHS, NYHA) 24,900 24,900
OLoEsd FHEZ A
3,300,000 +6H 19,800
Al 9,900




2A:

SINESES I}

3 XAe SEEsS(MISA/FHLASIZ)
chelr HARLIEIAN 43t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 9,900
OJIAEE X Areit]
300,000 %174 5,100
Al 2,550
- 2,550
11 dALEEIXIE S 960 960
OSE== SE3stus B4 24|
3,000 +80 & *43] 960
Al 480
- 480
14 0Bt 2as 99,736 99,736
UNER HRBEI} 4T
12,0003 *10A| 2H*4Z2=+x30H 61 2 86,400
Al 43,200
T 43,200
Osg=s ggdus JA+g
370,000 43 1,480
Al 740
- 740
OJAEE XIZ AL 11,85
- JHES ZA=g 130,000& »242] 3,120
Al 1,560
- 1,560
- IIMNSS EXZASE
80,0008 x242[+2H 3,840
Al 1,920
- 1,920
- JEE dEESIH ¢
12,0003 »6Z 4 Al 2kx 17 Ml Ch 4,8%
Al 2,448
- 2,448
307 el2to| & 184,684 184,684
Al 92,342
- 92,342
06 28= 884 884
OJtatEs HEESIt doi2Ea
52,0002 17 884
Al 442
- 442
11 AMEISXAEEES 183,800 183,800
SR N ES 106,240,000& 108,240
Al 53,120
- 53,120
Ogaotasa 12,960,000 12,960
Al 6.480




2A:

SINESES I}

M XSS SSHSS(AEISX/HAHSKIA)
2l AHASLIEAN 2d5t (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 6,480
Oga=sAE2Z 64,600
- UNER HPHEI U4
7,600,000& 7,600
Al 3,800
- 3,800
- AAH(BHEH/ I E) XA 51,000,000& 51,000
Al 25,500
2 25,500
- Joislel 2 BT 2|
6,000,000& 6,000
Al 3,000
- 3,000
N 2HAHI(SXIZHH) (JIEH/JIEH 245,809 238,683 7,121
Xl 69,456
Al 34,728
- 141,625
AR AH|(SXIF 1) 187,013 174,9% 12,017
Xl 69,456
Al 34,728
- 82,829
ol 2HH|(SEAHIZEIA 187,013 174,99 12,017
Xl 69,456
Al 34,728
- 82,829
101 21| 160,885 157,405 3,480
Xl 56,479
Al 28,240
- 76,166
03 SRA(RINHL) 2224 160,885 152,296 8,589
OSAtelZel AL D122
2,546,940 x4 B+ 12& 122,254
Xl 52,698
Al 26,349
- 43,207
OAIZteI=E 21,3203 *10A1 2H+4H x 12F 10,234
Xl 3,781
Al 1,891
- 4,562
OFHZAl| 140,000 x4 * 12& 6,720
o= 60,0002 x4« 12& 2,880
Odtrasesy 1,365,020 *4H 5,461
OZE St 2,037,5503+4H 8,151
O8uman32 1,296,050 3 *4H 5,185
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2A:

SINESES N}

. AY2EIH(SNEH D) (OIEHIIEH
Sl J|2dHI(SXIF D) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=AII=gRss 2|
8,000 x 172 +6Ax 122 9,792
02 S3=gHl 1,500 1,500 0
OZelH S IRl 250,000 62 1,500
202 04| 28,560 34,272 N5, 712
01 =LHOHI 28,560 34,272 Ab,712
OJI2ee =& EH0U
20,0003 *17E %142« 123 +50% 28,560
203 HR=H] 7,200 7,200
01 J|2=2gege=a] 3,000 3,000
OsNus=% 3,000,000& 3,000
MU A2 LIFLI 4,200 4,200 0
ORANEgg =AY 350,000 x 12 4,200




